(

NOTES:

1. All work shall be performed in accordance with all
applicable national, state, and local codes, regulations,
and FHA/VA MPS.

2. It is the responsibility of the owner and/or general
contractor to check all dimensions for the job before
construction.

3. Contractor shall insure compatability of the building
with all site requirements.

4. The contractor is responsible for adjusting and verifying
all structural details and conditions to meet all local codes
and to insure a quality and safe structure.

5. All federal, state, and local codes, ordinances, regulations,
etc. shall be considered as part of specifications for this
building and shall take preference over anything shown,
described, or implied where same are variance.

1

1x4 ROOF STRIPPING 2" O.C.

METAL ROOF

2X6 RAFTERS @ 16" O.(
MUST BE BRACED@7 -9

/2" 0SB PLYWOOD
(nailed 4" perimeter/ edge)

[HURRICAI\IE STRAPS EVERY STUD

DBL—2X8 CONT. RIDGE

2X6 WIND COLLARS
EVERY RAFTER

16”7 0.C.

24 gauge or better

BRACES 45 MAX
@ 4" 0.C.

H_‘

2X4&2X6 STRONG

BACK \
’_H

"\ SAME SIZE AS RAFTER

DRIP EDGE

2x6 CEILING JOIST @ 16" 0.C. TYP.

METAL
FACIA T

2X6 SUB

FACIER /%

VINYL
SOFFIT

2X2 NAILER BOND

1/2" 0SB PLYWOOD
SIDING

2X4 EXTERIOR
WALL

2X4 TREATED CONTINUOUS
5/8°X10" ANCHORS @ 24" OC w/ 3" washers

K CONC. WITH

HI
&3 W.W.F. REINF.

[66I/I
! (

6 MILL VISQUEEN

/L

-0

1"—6

2—#4 REBARS CONT.

GARAGE FOOTING DETAIL
SECTION A-A
N.T.S.

2X4 EXTERIOR

WALL 2X4 TREATED CONTINUOUS i
\\ 5/8"X10” ANCHORS @ 24” 0C w/ 3" washers
3.5” THICK CONC. WITH
6 'XB"X10/10 W.W.F. REINF.
)
N 6 MILL VISQUEEN

1/ = 2—#4 REBARS CONT.

EXTERIOR FOOTING DETAIL
SECTION B-B
N.T.S.

‘\RAFTER CLIPS EVERY RAFTER
DOUBLE 2X4 PLATES 48

HURRICANE STRAPS EVERY STUD

TOP AND BOTTOM

FRAMII\IG NOTES:
LAPPED TOPPLATES

—EVERY STUD TIED, RAFTER CLIPPED,

(MUST WRAP OVER RAFTER)

<——2X4 STUDS 18" 0O.C.

WALL SECTION

N.T.S.

2X4 EXTERIOR
WALL

RECESSED

2X4 TREATED CONTINUOUS

5/8"X10" ANCHORS @ 24" OC w/ 3" washers

C.
W.W.F. REII\IF

31/2

GARAGE

6 MILL VISQUEEN

2—#4 REBARS CONT.

CARPORT FOOTING DETAIL

SECTION C-C
N.T.S.

®(ﬂ

5" I O C. WITH
"X W.W.F. REINF.

1|/

I’fO’

6 MILL VISQUEEN

2—#4 REBARS CONT.

CARPORT FOOTING DETAIL

SECTION D-D
N.T.S.

& JOIST HUNG (2 ‘MAX OR EQUAL)

I T
| N 12 i |
| T |
| io |
| 0 |
| |
| |
| |
| |
| |
S R I |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
E | |
| |
I \ -
I = 12 =l I
| RN |
| |
| ] |
| S |
| |
| |
| v |
| |
S e |
| |
| |
| . |
I = 12 7 I
| KR |
| o |
| |l |
| » |

8'-8" 54"
—D
P [ P —
] - - T 7‘
ke |
f,,fjffoffLErkvi;;iJ
COVERED a| | i
D D REA C% | C E“ H B 0
{ } 1S } { }
ol T
% BATH [~ ||
I |
,, T
RECESSED 3.5" >C a ‘ ‘
e T
R ‘ - - - - _C ______ — ‘
N o I |
] I |
N R I |
I I |
Lk .
| | |
] b
o .
] b
] .
Al | A Al A
iy i

20’

443 S.Q. F.T. 3000 PSI
3.5" THICK CONC. WITH

6"X6"X10/10 W.W.F. REINF.

GARAGE

24

FOUNDATION

ROOF DETAIL

GENERAL ROOF NOTES:

ALL ROOFING SHINGLES— Are required to meet
130 mph sustained and 140 mph 3 second gust

METAL ROOFING— materials must be 26 gauge
or better installed to manufacturer’s specification
to ensure wind ratings of 130 mph sustained
and 140 mph gusts.

HURRICANE STRAPS— hot dipped galvanized or stainless
steel straps are required on every stud; refer to 2012 IRC
typical methods of anchorage & bracing for further details.
Strap inspections are required prior to covering.

GARAGE PLAN

( Scale:

1/4"=1'-0"

\

W.0.

#:

91824

Date:

12/19/24

Drawn by:

TLP

Sheet:

G-

2

Prepared For
Thomas & Sandie LeMaire

500 South Beach BLvd

Bay St Louis, MS

(

ICe

-CAD Drafting Serv

17121 Fenton Dedeaux Rd

o, 1 €ChNi
?

Aideq D

C

Oo‘ogﬁm

Kiln, MS 39556
Ph: 228-326-4232 email: atoashamoment@aol.com

)
oQq



AutoCAD SHX Text
12" MAX

AutoCAD SHX Text
%%uNOTES:

AutoCAD SHX Text
1. All work shall be performed in accordance with all

AutoCAD SHX Text
applicable national, state, and local codes, regulations,

AutoCAD SHX Text
and FHA/VA MPS.

AutoCAD SHX Text
2. It is the responsibility of the owner and/or general

AutoCAD SHX Text
contractor to check all dimensions for the job before

AutoCAD SHX Text
construction.

AutoCAD SHX Text
3. Contractor shall insure compatability of the building

AutoCAD SHX Text
with all site requirements.

AutoCAD SHX Text
4. The contractor is responsible for adjusting and verifying

AutoCAD SHX Text
all structural details and conditions to meet all local codes

AutoCAD SHX Text
and to insure a quality and safe structure.

AutoCAD SHX Text
5. All federal, state, and local codes, ordinances, regulations, 

AutoCAD SHX Text
etc. shall be considered as part of specifications for this

AutoCAD SHX Text
building and shall take preference over anything shown,

AutoCAD SHX Text
described, or implied where same are variance.

AutoCAD SHX Text
GENERAL ROOF NOTES:

AutoCAD SHX Text
ALL ROOFING SHINGLES- Are required to meet 

AutoCAD SHX Text
130 mph sustained and 140 mph 3 second gust

AutoCAD SHX Text
METAL ROOFING- materials must be 26 gauge 

AutoCAD SHX Text
or better installed to manufacturer's specification

AutoCAD SHX Text
to ensure wind ratings of 130 mph sustained

AutoCAD SHX Text
and 140 mph gusts.

AutoCAD SHX Text
HURRICANE STRAPS- hot dipped galvanized or stainless

AutoCAD SHX Text
steel straps are required on every stud; refer to 2012 IRC

AutoCAD SHX Text
typical methods of anchorage & bracing for further details.

AutoCAD SHX Text
Strap inspections are required prior to covering.

AutoCAD SHX Text
DBL-2X8 CONT. RIDGE

AutoCAD SHX Text
BRACES 45%%D MAX

AutoCAD SHX Text
@ 4' O.C.

AutoCAD SHX Text
2X4&2X6 STRONG

AutoCAD SHX Text
BACK

AutoCAD SHX Text
2X6 RAFTERS @ 16" O.C.

AutoCAD SHX Text
1/2" OSB PLYWOOD

AutoCAD SHX Text
DRIP EDGE

AutoCAD SHX Text
METAL

AutoCAD SHX Text
FACIA

AutoCAD SHX Text
2X6 SUB

AutoCAD SHX Text
FACIER

AutoCAD SHX Text
VINYL

AutoCAD SHX Text
SOFFIT

AutoCAD SHX Text
2X2 NAILER BOND

AutoCAD SHX Text
RAFTER CLIPS EVERY RAFTER

AutoCAD SHX Text
DOUBLE 2X4 PLATES

AutoCAD SHX Text
HURRICANE STRAPS EVERY STUD

AutoCAD SHX Text
TOP AND BOTTOM 

AutoCAD SHX Text
2X4 STUDS 16" O.C.

AutoCAD SHX Text
1/2" OSB PLYWOOD

AutoCAD SHX Text
SIDING

AutoCAD SHX Text
HURRICANE STRAPS EVERY STUD

AutoCAD SHX Text
(MUST WRAP OVER RAFTER)

AutoCAD SHX Text
FRAMING NOTES:

AutoCAD SHX Text
- 48" LAPPED TOPPLATES

AutoCAD SHX Text
-EVERY STUD TIED, RAFTER CLIPPED, 

AutoCAD SHX Text
& JOIST HUNG (2 MAX OR EQUAL)

AutoCAD SHX Text
SAME SIZE AS RAFTER

AutoCAD SHX Text
2X6 WIND COLLARS 

AutoCAD SHX Text
EVERY RAFTER

AutoCAD SHX Text
2x6 CEILING JOIST @ 16" O.C. TYP.

AutoCAD SHX Text
(nailed 4" perimeter/ edge)

AutoCAD SHX Text
6 MILL VISQUEEN

AutoCAD SHX Text
6"X6"X10/10 W.W.F. REINF.

AutoCAD SHX Text
1'-6"

AutoCAD SHX Text
2X4 TREATED CONTINUOUS

AutoCAD SHX Text
WALL

AutoCAD SHX Text
2X4 EXTERIOR

AutoCAD SHX Text
3 1/2"-4" THICK CONC. WITH

AutoCAD SHX Text
2-#4 REBARS CONT.

AutoCAD SHX Text
SECTION A-A

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
%%UGARAGE FOOTING DETAIL

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
METAL ROOF

AutoCAD SHX Text
24 gauge or better

AutoCAD SHX Text
1x4 ROOF STRIPPING 2' O.C.

AutoCAD SHX Text
5/8"X10" ANCHORS @ 24" OC w/ 3" washers

AutoCAD SHX Text
MUST BE BRACED@7'-9"

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
24'

AutoCAD SHX Text
9'

AutoCAD SHX Text
2'-6"

AutoCAD SHX Text
2'-6"

AutoCAD SHX Text
9' GARAGE DOOR

AutoCAD SHX Text
3'DOOR

AutoCAD SHX Text
20'

AutoCAD SHX Text
3'

AutoCAD SHX Text
4'

AutoCAD SHX Text
6"X6"X10/10 W.W.F. REINF.

AutoCAD SHX Text
3.5" THICK CONC. WITH

AutoCAD SHX Text
448 S.Q. F.T. 3000 PSI

AutoCAD SHX Text
14'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'-8"

AutoCAD SHX Text
5'-4"

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
D

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
D

AutoCAD SHX Text
6 MILL VISQUEEN

AutoCAD SHX Text
6"X6"X10/10 W.W.F. REINF.

AutoCAD SHX Text
1'-6"

AutoCAD SHX Text
2X4 TREATED CONTINUOUS

AutoCAD SHX Text
WALL

AutoCAD SHX Text
2X4 EXTERIOR

AutoCAD SHX Text
SECTION C-C

AutoCAD SHX Text
%%UGARAGE/ CARPORT FOOTING DETAIL

AutoCAD SHX Text
3 1/2"

AutoCAD SHX Text
RECESSED

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
3.5" THICK CONC. WITH

AutoCAD SHX Text
2-#4 REBARS CONT.

AutoCAD SHX Text
6 MILL VISQUEEN

AutoCAD SHX Text
6"X6"X10/10 W.W.F. REINF.

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
2X4 TREATED CONTINUOUS

AutoCAD SHX Text
WALL

AutoCAD SHX Text
2X4 EXTERIOR

AutoCAD SHX Text
SECTION B-B

AutoCAD SHX Text
%%UEXTERIOR FOOTING DETAIL

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
3.5" THICK CONC. WITH

AutoCAD SHX Text
2-#4 REBARS CONT.

AutoCAD SHX Text
6 MILL VISQUEEN

AutoCAD SHX Text
6"X6"X10/10 W.W.F. REINF.

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
SECTION D-D

AutoCAD SHX Text
%%UCARPORT FOOTING DETAIL

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
3.5" THICK CONC. WITH

AutoCAD SHX Text
2-#4 REBARS CONT.

AutoCAD SHX Text
5/8"X10" ANCHORS @ 24" OC w/ 3" washers

AutoCAD SHX Text
5/8"X10" ANCHORS @ 24" OC w/ 3" washers

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
BATH

AutoCAD SHX Text
COVERED

AutoCAD SHX Text
32'

AutoCAD SHX Text
14'

AutoCAD SHX Text
RECESSED 3.5"

AutoCAD SHX Text
RECESSED 3.5"

AutoCAD SHX Text
shower

AutoCAD SHX Text
GRILL

AutoCAD SHX Text
MINI

AutoCAD SHX Text
REF

AutoCAD SHX Text
GAS

AutoCAD SHX Text
AREA


	Sheets and Views
	Model


